Losungen zu lineare Gleichungen mit Parameter:

Ubungen: a) 7a—3b+c—-x=2b-3c
by 4a’x—4dax=a—x
c) (x—m)(mx+2)+(1+mx)2m—x)+m* =1

2mx+n 2m—nx+ 2n*(x+1)

9 2m+n  2m-n  4m’—n’ =0 mitn#£am
Zu a Ta-3b+c—x=2b-3c |-7a+3b-c
= —x=5b-Ta-4c |-(=1)
= x=T7a-5b+4c
= L={7a-5b+4c} Ya,b,celIR
Zu by 4a’x—4ax=a—x +x
= d4a’x—4ax+x=a
= x(4a2—4a+1):a
= x(2a—1)2:a

1. Fall: (2a—1)2¢O<:>2a—1¢0<:>2a¢1<:>a¢%
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ZU C) (x—m)(mx+2)+ (1 +mx)2m—x)+m* =1

= mx® +2x—m*x=2m+2m—x+2m’x—mx* =1
= x+m’x=1
=N x(1+m2)=1 |+(1+m2)¢OVmeIR
1
= X = 3
1+m
1
= L:{ 2}VmeIR
1+m

2mx+n 2m—nx 2n°(x+1)
+ +

2m+n 2m—-n  4m*—n®

zu d) =0 |-2m+n)2m—n)

2m —n)2mx+n)+2m+n)2m—nx)+2n°(x+1)=0

Am’x +2mn—2mnx —n> +4m* = 2mnx + 2mn—n’x+2n°x+2n> =0
dm’x —dmnx+n’x+4m*> +dmn+n> =0  |—4m’> —dmn—n’
dm*x —4dmnx +n’x = —4m*> —4dmn—n’

x(4m* —4mn +n*) = —(4m> + 4mn +n’)

x(2m—n) =-(2m+n) |+ (2m—n)’,da n# +2m

(2m + n)2

xX=- 5
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